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Infinite Drug, Infinite Stimulus limits
In order to keep accuracy on the results of the dynamic simulations, we took an-

alytically the limits of infinite drug and stimulus instead of using a high value to

simulate it. Given the ODEs of the three cycle cascade, the infinite stimulus limit

would affect the first protein: it must be in its active state or sequestrated in one of

the two intermediate complexes, but it can’t be inactive because we assume imme-

diate activation. Infinite drug would imply no unbounded state for the third kinase,

being completly sequestrated by the drug.

Given explicitly the set of the ODEs for the three-cycle cascade,
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The infinite stimulus limit modifications are:
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While the infinite drug limit modifications:
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